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Q.1

Ans

e R R sl kAT d S T s e s v A d @
FT T FUT T ¥

= Affer ¥ N et d

TFAT:

1. Tl @y oS, AfEer S A & gFetar 97§
2. TaTd o g A affEr = 9fy ST o FRY o (cousin) I

Consider the given question and decide which of the following statements is
sufficient to answer the question.

How Swathi is related to Namitha?

Statements:

I.  Swathi’s husband is the only son of Namitha’s mother.
TI. Swathi’s brother and Namitha’s husband are cousins.

F 0
fRT 91T W3F # 3ea¥ &F & Tow 1 3T 2 2=t gareg &

Both I and IT are sufficient to answer the question.

W2
T 717 99 & 3ea¥ &= & T Ir ar 1 71 2 gaea 2

Either T or II is sufficient to answer the question.

< s
U 71T g9 F 3ea? &7 F BT 1 arer gutey ¥, F@lF 2 srben a8
zl
I alone is sufficient while IT alone is not sufficient to answer the question.

X 4
U 710 g9 F 3ea? &7 F BT 2 arer gutea ¥, @lF 1 srben a8
zl

1I alone is sufficient while I alone is not sufficient to answer the question.

Question ID : 9864494277
Status : Answered
Chosen Option : 3

Q.2

Ans

AE m % WY TS g8 a7 A e S (E) T AST T g A s
af v & "G 2v T ST R e @2

‘What will be the value of the kinetic energy (Ex) of a moving body with mass m, if its
speed is doubled from v to 2v?

Question ID : 9864493422
Status : Answered
Chosen Option :2
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2E,

F 0
2E
5 E, H P 9iEgas Fdr grem|
There will be no change in E;
4E,
W 3
4E;
2 E
~< 4
1
2
03 & % wefow g & MU W IeuitYT e S g4 Question ID : 9864493989
Status : Answered
Buy : bough't o ChOSen 0pt|0n2
Select the missing word pair based on the given related pair.
Buy : bought ::
Ans  of 1 Shut : Shut
# 2 Sang : Sing
# 3 Ran : Run
X 4 Tore : Tear
4
“ gfra —i =1grara?+ ﬁ =7 Question ID : 9864492856
Status : Answered
Ifa— = 1, then a? +L =7 Chosen Option : 1
a ? a?
Ans 1 5
X 2.1
<3 4
W3

Q.5 9=t 977 grT A 97 FF U5 F UF Afad 379 Uidfaa el 7 cEar §
U g9 g1 H g1 ug Fe 7 O O gear F T 87

A person holding a pen in his left hand sees his reflection in the mirror holding the pen in
his right hand. This is due to which of the following phenomena? Chosen Option : 4

Question ID : 9864493403
Status : Answered

Ans xyﬁmuﬁﬁa

Diffused reflection
~ 2.
el 3iditer widfeda (Total intemnal reflection)

Total internal reflection
& 8. SRERE

Refraction
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" ared sgchAUT (Lateral inversion)

Lateral inversion

Q.6 HasHifEe IFcaENTT FiAweeT (G) F Hed A W FHE g@nr i 7E:

The value of universal gravitation constant (G) was determined by:

", TR TS FEife

Antoine L Lavoisier

5 , ST e
Isaac Newton

v: g hafeser
Henry Cavendish

5, SNt SToeeT
John Dalton

Question ID : 9864493579
Status : Answered
Chosen Option :2

7 frafaf@a # & ®ia @1 v e @ T Al € 2
Which of the following is NOT a property of acids?

Ans & 1
3F ol eAw A o F TREdg & &ar &

Acids turn blue litmus red
x , 3T I T@IE WET FIer §
Acids have sour taste
v 3 I TG F3 Bl ¢

Acids have bitter taste
< 4
3T R & Ty AT 90T a1 §

Acids form salts with bases

Question ID : 9864493290
Status : Answered
Chosen Option : 3

Q.8 SM@A#N2B40&3C5P+D2

39T RU srpd &t St TR0 & wia § aer s wopg o e 7 &

AO+, MB5, N32, $2P
SM@A#N2B40&3C5P+D2

Using the above sequence find the characters that do NOT belong to the group:

AO+,.MB5, N32. $2P

Question ID : 9864493744
Status : Answered
Chosen Option : 3

Ans & 1 AO+
v $2pP
X 3 N32
~ + MB5
Q.9

Question ID : 9864494220
Status : Answered
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Ans

Rrr s R TR H it FdE g Fa g o
A= & @)

Lol
T 3T F FEAT §, "maa:qgaﬁmaﬂwaaraﬁ:rma:ﬁmﬁ
Eal

Al

1. 3T e $ T FEAT THE T
2. 9UIH W Al B FAE & & ot Tl

Consider the given statement and decide which of the given assumption(s) is (are) implicit.

Statement:

Shyam tells Gita, “The ways to reach Sri Lanka is through air and water™.

Assumptions

1. Gita likes to travel to Sri Lanka.
2. Shyam is fond of advising people.

1 Fao AT 1 Afga g
Only assumption 1 is implicit.
|1 3R 2 &t fafea 7
Both assumptions 1 and 2 are implicit.

1 3k 2 A fafga w4 §

Neither assumption 1 nor 2 is implicit.

4_mm2ﬁ’|ﬂ?—r%:

Only assumption 2 is implicit.

x

4

x

Chosen Option :3

Q.10

Question ID : 9864494101
Status : Answered
Chosen Option : 3
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Trfafed gea TeAE 9K # TT BHA & JINE Soqea (e H) G aw @

srehtO  -3wd, raguS -9/@=HY, tachW -31g, Rlec - =maer

TfE Fol 3eMEA 9000 T off o TG & Iedlas H AG oAl H FAT]
The given pie chart represents the annual yield of certain crops in tons.

If the total production is 9000 tons, then the yield of rice is tons.

Ans X' 1.1500
X 22000
v 21000
X 43000

Q11 4 2 5
573 7

FT .9 AT Ff=aw)

Find the L.C.M af§ .Zand

3
Ans ‘,1.20
< 2 30
X 325
& 4 40

=1 |

Question ID : 9864492603
Status : Answered
Chosen Option : 1

Q12 Frder R Sfae JTel TEATT ARET FERTET i g2
Who is the only Indian economist to have won the Nobel prize?

Ans xlaqﬁmraﬁr?-r

Avinash Dixit
HAT Far
Amit Mishra
A BT

Amartya Sen

X 2.

v &)

Question ID : 9864492158
Status : Answered
Chosen Option : 3
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, HiEe Sttt
Abhijit Banerjee

x

Q13 g w1 arg Bew v & Foo@R T F A WW A F ¥ TS = @HA
FNE Ay T A @ B mw B e &

If a body takes ‘t’ seconds to go once round the circular path of radius ‘r°, the velocity *v*
is given by: Chosen Option : 1

Question ID : 9864493320
Status : Answered

A 2
ns « 1.9 = T
4

2mr?

2. =
X2y r
or
3.V = —
x B 2t
Xap ==

2mr

Q14 37 RpeT T &1 700 H A T By @t & 3mer ameem Question ID : 9864494380

Status : Answered

%é # é 9 Chosen Option : 2

?x 2F mk

A B C D
Select the option that would come next in the following figure series.

ek e ae A
? g 5 mk

A B C D

Ans x1~B
v2C
<3 A
X 4D

Q.15 WRfeF T adifee F AN, ToiF g AH A § w
According to an early Indian philosopher everything is made up of basic elements.

Question ID : 9864493327
Status : Answered
Ans X1 3 Chosen Option : 3

X 24
X32
5

Q.16 e yfcRierd & U Taegd URT 1 aTfed el § | U Bre Ficieres 37 V &l fasraiol
FATT TEAT & | /AT ¢ H HIe G@NT AT T I 3T 1 A fahedat g

A current I flows through a resistor. A source maintains a potential difference of V across .
the resistor. The energy supplied by the source in time t is: Chosen Option : --

Question ID : 9864493165
Status : Not Answered

Ans X1 VI/t
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X2VI

X3 VIt
¥4 VIt
17 } I & st # F #l & A
Q c:I = ﬂﬁ? A AR I = E% = = = Question ID : 9864493934
Status : Answered
afiT: Chosen Option : 3

et FEfrelt & U= 9geT 9HE 2 B

AR
1. e 3998 & 9SHT F B
2. Tl i o=ht # Fo 3R TEer THg wE g

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
All girls love reading novels.

Assumptions:

1. Novels are the only reading materials.
2. No girl loves to read other materials.

Ans X1aﬁ|?~rqjm1ﬁr‘ﬁg?r%|

Only assumption 1 is implicit.
1 #HR 2 g EuReTT &RET §
Both assumptions 1 and 2 are implicit.

Jg.HFﬂ'13ﬂTHﬁ2ﬁ'{ﬁH%I

Neither assumption 1 nor 2 is implicit.
, e e 2 fafge g

Only assumption 2 is implicit.

x

x

Q18 a1 T gar T & T iffaEs # o= a8 22

What are the receptors for detecting taste called?

Ans J 1.
TEadr 3fAamgs (Gustatory receptors)

Gustatory receptors
< 2
Tarafas® 3famgs (Chemical receptors)

Chemical receptors
< s
gTuT HTAAES (Olfactory receptors)

Olfactory receptors

~< 4
Hafce AfAAES (Sensory receptors)

Sensory receptors

Question ID : 9864493056
Status : Answered
Chosen Option : 4

Download Anil Sir ITI App for ALP Practice Set




Q.19 S =Eg F1 P 3R F 5 1T 1 A1 8, T OF T ST EIRT AT TS S
Teufer 7 9ar T

Find the position of the image formed by a concave mirror when the object is placed
between P and F?

Question ID : 9864493564
Status : Not Answered
Chosen Option : --

Ans «, FARCEHET
Between F and C
X2 HAd T
At infinity
L, TE
Behind the mirror
,C F e
Beyond C

x

Q.20 ofy & =% AEEET F ¥ To4F F FA TH AN THET AT TAF 9 @
T w g g

Question ID : 9864493919
Status : Not Answered
Chosen Option : --

If three groups could be formed using the given figures only once, these groups would be

=
SIS
g
", (157), (249) 3R (36,8)
(1.5,7), (2.4.9) and (3.6,8)
x, (15.8), (247) T (369)
(1.5.8), (2.4.7) and (3.6.,9)
x, (157), (268) 3 (34.9)
(1,5,7), (2.6,8) and (3.4.9)
. (157), 24.8) 3R (36.9)

(1.5.7). (2.4.8) and (3.6.9)

Q.21

Question ID : 9864494118
Status : Answered
Chosen Option : 1
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A= R T T F WeT AT §T Fg A FL o B & HUR T FiA G
Frd feaa w7 ¥ FrFmer =T @ #

e
el Fr e § & en % A#lgq § 95 e 3ueey 746 B #

oresy:

1. il & Fellg &t =neT Tk caEnt & #Atew 7 F g ar s
2. TN & Tfew 5 a7 cEnt & #ew § e ¥ ey a9t $r g
£y

Consider the given statement true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

People complain that bus tickets are not available during festival seasons.

Conclusions:

1. People should be advised not to travel during festival seasons.
2. The government should bring in more busses during festival seasons.

Ans v fark e 2 srerEvor e #
1.

Only conclusion 2 follows.
| farsd 1 e 2 gt srgEr i @

Both 1 and 2 follow.
~ 3.
1 & fsey 1 3k ar & Py 2 e =

Neither 1 nor 2 follows.

fas Ty 1 sgEor #ar gl

Only conclusion 1 follows.

x

< a

Q.22 /7 A o 97 Sia o e § = anadt germeT gt &7
The fraction from the ones listed below that will NOT lead to a recurring decimal is:

Ans (1. 7

56

X2 2

56

X a2

56

r

56

Question ID : 9864493021
Status : Answered
Chosen Option : 3

Q.23 g FI F TACT H & o, Uw @fFa o 3,420 # v 99 & d
1 S WIS FHT W 43% FH A1) TH W 10% oeT Wity g T @ e
7 3 & = =nfgT am

To dispose of the old stocks, a person sold a tea-set for T 3,420, which was 432 below the
cost price. In order to make a profit of 10% the seller should have sold the set for ¥

more.

Ans - X 1.¥1,812.60
v 2 ¥ 3,180
< 3.¥2,664.42

Question ID : 9864492868
Status : Answered
Chosen Option :2
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# 4. ¥2,580

Q24 g gw ITafF arfosr & FHgH # A S § @ Fa giar g7
What happens as we go down the group in the periodic table?

Ans xlﬂﬁﬁmmaﬁﬁé‘

The number of shells decreases
x , T FoRIA FH & A @
Valence electrons decreases
T Y TEIT g AT &
The number of shells increases
x4 AIOTGH HTHR FF & Aam &

Atomic size decreases

W 3

Question ID : 9864493054
Status : Answered
Chosen Option : 3

Q.25 IfE %% + ax + b AT (x- 1) FIN A7 Ram A & AT 15 99 q9A &
AT FT *% + bx + a B (x + 1) EINT AW BHAT AGT E A -1 A FIA E
a? + b? H AT FT L

When x? + ax + b isdivided by (x - 1), the remainder is 15 and whenx? + bx + a
is divided by (x + 1). the remainder is — 1, then the value of a® + b? is:

s /110
< 220
X216
X< 48

Question ID : 9864492997
Status : Not Answered
Chosen Option : --

Q.26 gurelr =¥ U # vw AT T 375 H Gler Afk Ag 7 W @A WiF qACT
FT F faT 2345 F o wsn 39 Rhaer wfded A g3 87

Dipali bought a set of cups for T 375, but then had to sell it later to clear old stocks for ¥
345, What is the percentage of loss that she incurred?

Ans x1~16
X 27
v:8
X414

Question ID : 9864492989
Status : Answered
Chosen Option :3

Q.27 gfer 123 x 356 =43788 & @ 1.23 x 0.356 T AT FAT ZIM?
If 123 x 356 = 43788, then 1.23 x 0.356 =7

Ans X' 1. 437.88
X 2 43788
o 3 0.43788
< 4 0.043788

Question ID : 9864492740
Status : Answered
Chosen Option : 3

Q.28

Question ID : 9864494033
Status : Answered
Chosen Option :3

Download Anil Sir ITI App for ALP Practice Set




oo ¥ (Problem figure) T 3eat R (Answer Figures) # ¥ 39gaa
et & @y @+

Problem Figures

AR
S|
PJE

Answer Figures

A B C D
Complete the Problem Figure with an appropriate option from the Answer Figures.

Problem Figures

EYRS
S0
PG

Answer Figures

P e P RV

A B C D

Ans XTC
<2 A
< 3D
v 1B

Q.29 77 forFeT & =999 F{, N & 75 BT HEer A @ 7 F o F B .
Question ID : 9864494212
IUgET ¥ |
° Status : Answered
Chosen Option : 4
X %X X ® X ® H *® *®
A | + o+ ? + + +

Select the option that will correctly fit in the blank space in the given figure series.

£
3
&
. F
.o+ x
.+ x
.+ x
.+ %X
-J
.+
.+ x
.+ x

Ans

x

5

-

X 2 + +
- 8

X X

K| o+ +
" & W
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Q.30 T UemIge FT FIUAT 78 °C F1 FHieTe YA R ATHT e grem?
The boiling point of an aleohol is 78 °C. What is the temperature in Kelvin scale?

Ans X' 1. 341 K
2 351K
X3 78K
X 4 373K

Question ID
Status

Chosen Option :

19864493128
:Not Answered

Q.31 P=RfaT affens & 37 fet & =
3 9 e =

§ 5F amr ¥

A$1%MBH#HBEENC=3!0D+KP

The number of symbols that are preceded by a letter and not followed by a number in the
following expression is

AS$1%MB#6&NC=3!0D+KP

Ans ‘{1.1
X23
<34
X a2

Question ID
Status
Chosen Option

19864493974
: Answered
|

Q.32 T F oA & T A TOeEET H MO TEw e g

The maximum number of electrons that can be accommodated in M shell is:

Ans x1_32
X 22
<38
o 218

Question ID
Status
Chosen Option

19864493253
: Answered
|

Q.33 T ORTET FATE B HI: 5 &7 Toc & 3 98T 3 T1 HTe Tg= g T 3T
IFRTET TGN § A1 7 o Ferch § 3N W 5 S FIAIIE Tg e ¢ At {orenisar
ITH F T Herdr 7 A e St erEniEat v aHeT e T Wl

A Train leaves Kazipet at 5 a.m. and reaches Bangalore at 3 p.m. Another train leaves
Bangalore at 7 a.m. and reaches Kazipet at 5 p.m. When do the two trains meet? Assume
that the trains travels at equal uniform speeds.

Ans 9Qid: 10

1pm.
‘EHT-I' 11
11 a.m.

Question ID
Status
Chosen Option

19864492570
: Answered
4

Q.34 srT & B 3cot-Tdf Tew o 2022 #F 393 USET et Hr Av@nt H
Teaerdr o &7

Which north-eastern state of India has signed up to host the 39th National Games in the
year 20227

Ans

Question ID
Status
Chosen Option

19864492430
: Answered
|
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[EREY
Ko
Tripura
AR
< 2 =
Manipur

IEzEiEesd
Mizoram

‘{4#31@

Meghalaya

X 3.

Q.35 wIEl 2018 W, ST % TEAAS Fi §, T AT F Tger FEIHA T §?

As of February 2018, who is the Chief Minister of Telangana, who is also the first Chief
Minister of Telangana?

Chandrababu Naidu

) FizTa Sl
Kadiyam Srihari

& T

T Rajaiah

&. TERER 9

K Chandrasekhar Rao

Ans

F

<

x

o 2

Question ID : 9864492167
Status : Answered
Chosen Option : 4

Q.36 forzer gt Y,
22 — (/) {—=5 — (—48) + (—16)}
Solve the following:
22 — (1/H {5 — (—48) = (—16)}

Ans X1
W2 24
~ 322
X421

Question ID : 9864492479
Status : Answered
Chosen Option : 2

Q37 FAARSA YA AN EATHEH NG, (pH) _ HFAGA &
Tooth decay starts when the pH of the mouth is lower than:
Ans X154
v 255
X357
X 456

Question ID : 9864493069
Status : Answered
Chosen Option : 1

Q.38 w.x,y AN z INE FA & AT TN TET £ 597 § e 7 geiad LT &
Jtaa 18 § s e sfsas et & siad 22 21 st &1 gie &= g2

Four numbers, when arranged in ascending order, are w, x, ¥ and z. The average of the
smallest three numbers is 18, while the average of the largest three was 22, What is the
range of the data?

Ans of 112

Question ID : 9864492718
Status : Answered
Chosen Option : 1
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X 213
< 310
X411

Q.39 sra & gl givar @& wwr ik warfafew B (@) & oA B #ia
&
Who is the current director of Research and Analysis Wing (RAW), India’s foreign
intelligence service?

Ans
‘,Laqﬁ?»rgmnﬂmmr

Anil Kumar Dhasmana
AT STHTT
< 2
Ajit Doval
~ 3. o S
Kiran Bedi
X feereaT oAT

Dineshwar Sharma

Question ID : 9864492275
Status : Answered
Chosen Option : 2

** 3249 1 I AT €

The square root of 3249 1s:
Ans « 1. 57

« 259

X 367

< 463

Question ID : 9864492883
Status : Answered
Chosen Option : 1

LY SfafEE F ¥ Fi9 o1 = e e § 2
Which of the following is an amphoteric oxide?

An v TR JHESE

Aluminium oxide
¥ I (1) 3TFETSE
Iron (II) oxide
s FTe STSHFHSE
Carbon dioxide

4_ﬂ::ﬂﬁnm3$1’aams-s'

Question ID : 9864493312
Status : Answered
Chosen Option :2

Magnesium oxide

Q.42 &7 URAT &, g B &1 & TS P Z@RT WA fhal 1T &l :
o R Question ID : 9864493631
In the process of , the iron is protected by a coating of zinc.
A Status : Answered
ns .
x Rears (greasing) Chosen Option : 3
1 .
greasing
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TARESIAT (anodizing)
anodising
v IealASa1l (galvanization)

galvanisation

AT (alloying)
4.

alloying

~ 2.

x

Q.43
1 ? 3 Question ID : 9864492564
Status : Answered

oo 3 AT 11T, Afe $H T[0T 11 3T 13 & Chosen Option :2

]

1 % 3

Find the missing digit if it has 11 and 13 as factors?
Ans X' 1 g
R
K32
<48

Q.44 © 4l Fr G F AlSHT TH T G AT 2, omE S9%e 121 T FHT
¥ 9fE T A F1 FERT UF JeT ST T E S e O SFEe b

g2 (=2 s &) Status : Answered
Chosen Option : 3

Question ID : 9864492471

A copper wire when bent in the form of a square encloses an area of 121 cm?. If the same

wire is bent into the form of a circle, find the area of the circle: (Use E:?)

Ans x 150 ST HEHET
1.

150 cm?
153 ST HAHET
153 cm?

v 154 g7 GerHRET

154 cm?

o 155 ST HEHET

155 cm?

~ 2.

Q.45
Question ID : 9864493921

Status : Answered
Chosen Option : 1
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& o gfET W AR # A a7 F & g unonst F ¥ FiF @
safafea &l

&
T # e Fr FAT F FROT, TUFOT 7 T ARTR FT HTAT T B TIT
T 25% FH T F fow wr

AU
1. AR AW HIT T FT TS I FH HT T 81
2. F% FHdT TR GART & T $H FeOlg &7 =T FT Hehed &

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
Due to water crisis in the city, the authority had asked all the citizens to reduce their water

consumption by 25%.

Assumptions:
1. Many citizens may reduce their water consumption.

2. Many activists may protest to this advisory by the authority.

Ane J1mquurr13iaﬁ‘@?r%l

Only assumption 1 implicit.

Z;r;fnaﬂurazaiaﬁﬁaﬁ

Neither 1 nor 2 is implicit.

1 3R 2 2t qEuRenT siaffed #
Both 1 and 2 are implicit.

X I [EUROT 2 AR gl

Only assumption 2 implicit.

x

x

x

Q.46 F&am 428693745 H ¢ 3R 5 & TUT AT F AR

Question ID : 9864494354
The difference between the place values of 9 and 5 in the number 428693745 is: Status : Answered
Ans X 1. 90995 Chosen Option :2
& 299995
o 3 89905
< 4 8995
Q.47 =t gy [BRsecd  —»
A tang =%, A p F A F W2 SIS = Question ID : 9864492576
If tan@ = % then find the value of p such that W = Status : Not Answered
Chosen Option : --
Ans - X 1. 50
X 225
< 3100
W75
Q.48 g o & AT A AT & % oI ue & 3T & o |
L i & s & e ¥ Question ID : 9864493498
forms a common passage for both urine and sperms in nunan males.
Status : Answered
Chosen Option :2

Ans %aa.r%;ﬂ.
p O

Oviduct
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5 , TR

Ureter

o3 8

Urethra
S EEIRED
X4 2

Vas deferens

@4 fegaT 2018 Fr i W Al o guaw gem
On which dates of December, 2018 will be Wednesdays?
Ans XK 1.4,11,18 325
X< 23 10 17324
v'35.12,193T26
X 4 6,13,20 3027

Question ID
Status
Chosen Option

19864492554
:Answered
4

Q.50 e i 37el BTy =1 3 - = W o o 15 e & ® o 81 s@f
T T H FHE ST T S aTen W AT e

Travelling at Eth of his usual speed, a man is 15 minutes late. What is his usual time to
cover the same distance?

! HeT

1 hour

45 A
45 minutes
75 A=
75 minutes

15 fA=ae

15 minutes

Ans

~ 2.

< s

~< 4

Question ID
Status
Chosen Option

19864492510
:Answered
:3

Q.51 ws #F &, iy UNGIMMICKY & MIGNUYKCIM ferar =irar § of &2t s &
COMPLEXITY = & fergr smeam?

If in a certain code, UNGIMMICKY is written as MIGNUYKCIM, then how will
COMPLEXITY be written as in the same code?

Ans o 1 LPMOCYTIXE
X 2. LPOMCYTIXE
X 3 LPMOYCTIXE
& 4+ LPMOOCYTIXE

Question ID
Status

Chosen Option :

19864494215
:Answered

1

Q.52 37 gAT &7 997 &L 7 Fr g2 F 9: 30 Fr FE gUr oY @ gy
Select the time that would depict the correct mirror image of 9:30 on a clock.

Ans X 1. 6:30
X 2 7:30
W 3 2:30
< 4 4:30

Question ID
Status
Chosen Option

19864494338
:Answered
:3
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Q.53 frw s e & W g e fEss oo # $AF & TEEat F S

Ans

FT JUT foRaT &7

‘Which Indian author has chronicled the life in the Kumaon hills in the book ‘Things to
Leave Behind®?

x 1. fTsH as
Vikram Seth
X2 AT ST
Anosh Irani
X3 orf3r o
Shashi Tharoor
. i A
Namita Gokhale

Question ID : 9864492312
Status : Answered
Chosen Option : 1

Q.54

Ans

F FSIT AV gUIT & 9T FAT g ¢
A raised hammer possesses:
5 | T 3=
Mechanical energy

, AR S
Muscular energy
, Tt &=

Kinetic energy
, o= s
Potential energy

x

<

4

Question ID : 9864493581
Status : Answered
Chosen Option : 1

Q.55

Ans

Fcish T BT § 7
What is a tissue?

1.
a‘raﬂxﬁlaﬂﬁa’rqa &9 Y e8I 8. g fome i e e A g A €
Cells which are dissimilar in origin, but are similar in form and function
~ 2.
& PRI i 7T 7 B, Ry 31 o et o v @

Cells which are dissimilar in origin, form and function

W 3
& FIRIAIT S 7T &7 W, @y 7 AR w1 et & ware g €

Cells which are similar in origin, form and function

5 4
T HIRNFIC A HA T T FHA 21cll 8. We oot 3R F9 4 7 e arehr &

Cells which are similar in origin, but dissimilar in form and function

Question ID : 9864493175
Status : Answered
Chosen Option : 1

Q.56 afy sseret H1 WY ST & SeT § A fege anr s @ o ¥ ¥

Ans

g FoT F g &

If the resistance of a conductor is doubled, the current gets halved. This is because:

Question ID : 9864493326
Status : Answered
Chosen Option :2
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Q.57 west 3l (erugif melborP)&T Ser H &=t aTem WEr WiTew g4

Problem Figure

Answer Figure

A A

Choose the correct water image of the given problem figure.

Problem Figure

Ans ‘(1,5

Question ID : 9864493841
Status : Answered
Chosen Option : 1

Q.58 fr =17 a7 W # #iF W W 3H F F wia@UeT = @ =
Toemdr ofr & ST W=y aE 27

Coach

I Players

Girls- sr=frar Coach- &I Players- T&remst

In the following Venn diagram which region represents the coach who is also a player but
not a girl?

Girls Coach

t—— Players

Question ID : 9864493812
Status : Answered
Chosen Option :1
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Ans

XU
VT
X R
X5

Q.59 T 71T wo F eAETEF T AR aO F sHa # IeW & F w

Ans

frafefas =t & ¥ Fiv oueT
wptas FE X, Y, Z, U 3 V § § i ww wew §

YA
1.X, Y, Z, U 3t vV 5w g §
2. Z RwR gear gl

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Which of these natural numbers X, Y, Z, U, and 'V are even numbers?
Statements:

1. X, Y, Z U, and V are consecutive numbers,
2. Zis an odd number.

<
FaeT FUT 1 TAT § FdTSh FId FUS 2 F9AT &

Statement 1 alone is sufficient while statement 2 alone is insufficient
Xzsna;zrrﬂ INA T FUT 2 9aT &

Neither statement 1 nor 2 is sufficient

< s
FIT FUF 2 TITT § TS FIT FUT 1 39T ¥

Statement 2 alone is sufficient while statement 1 alone is insufficient

o -
FuT 1 3K FueT 2 v Ty e g 2

Both statement 1 and 2 together are sufficient

Question ID : 9864493816
Status : Answered
Chosen Option : 4

Q.60 garrer &7 ggem s v g3 o

Ans

The first Partition of Bengal took place in the year

x , 1904 sqar

1904 AD

v 1905 &war

1905 AD

x o 1903 sHar

1903 AD

5« , 1906 sHar

1906 AD

Question ID : 9864492103
Status : Not Answered
Chosen Option : --

Q.61

o # %@ & W 9=l &7 agu 17 ;8 § SafE qer AW dde
HUTE 6 : 17 §1 A3 A W & @y AT @ F1 FUd g2

The ratio of sand to gravel in a mixture is 17 : 8 while that between gravel and cement is 6
: 17. What is the ratio of sand to cement in the mixture?

Question ID : 9864492986
Status : Not Answered
Chosen Option : --
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As of 1.3 : 4

<28:6
<3217 : 17
<4289 : 48
Q.62 Us N & eI Wslelel &l UgHle (ormd o8, de N gfcaal sy e & Question ID : 9864493057
o fewdl & AGH ¥ Usia aniae &2 uestion
Status : Not Answered

Identify a type of asexual reproduction which involves reproduction through parts of a

plant such as roots, stem and leaves? Chosen Option : --

Ane . fa@z= (Fragmentation)

Fragmentation

W 2
dIaEdide Jsii=1(Vegetative propagation)

Vegetative propagation

. 3{L3il & faTeT (Fission)

<
Fission
Heheldd (Budding)
K 4
Budding
Q.63 waTamr == (Problem figure) & #0ft &I 3cax = (Answer Figures) & & )
. Question ID : 9864494129
T v 39gFd T & w9 = I A
N ° Status : Not Answered

Chosen Option : --

Problem Figure

s+ &
E S

Answer Figures

i ol
B | B
=" —b
1 2

&L | L
O | S
- =
3 4

TEenm &7 - Problem Figure
3ceR T - Answer Figures
Complete the series given in the Problem Figure with an appropriate option from the

Answer Figures.
Problem Figure
=
TG Em. U]
S S
Answer Figures
& | | I | L
BB |F|F
= = = =
1 2 3 4
Ans 1 3
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X2 4
X1
V2

Q.64 wI=fr 2018 W, ¥IEE 1 FEHTH &H 'HT USIH 2SS FT Alfels HiT 272

As of February 2018, who owns the Hyderabad-based IPL team ‘Sun Risers Hyderabad’?

Ane x1§mﬁﬁm?—~q§ﬁq¢

Deccan Chronicle Newspaper

Chandrababu Naidu

Question ID : 9864492159
Status : Not Answered
Chosen Option : --

Q.65 & fauw a1v gHeor # v & R B & 3! o1 giarig & fEgar |
i T 1 aeEET 3T THeTa A et g =

5+3%x6-4+2=4x3-10+2+7
In the given equation, LHS = RHS only when we interchange numbers on the
same side.

Ans x15 J'ﬂTZ
5and 2

v, 834
6 and 4

%, 3 3R 7
3and 7

x, 4 HRT
4and 7

Question ID : 9864494096
Status : Not Answered
Chosen Option : --

Q.66

Question ID : 9864493835
Status : Not Answered
Chosen Option : --
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Je A & wed S (Problem figure) & WA H@AT @ AT o fEw aw Iw
fopedt & (Answer Figures) & & wea ofy #r @ govr ofy =i @ grfr 2

Problem Figure

(o]

2N

Answer Figures

e

Choose the correct mirror image of the problem figure when the mirror is placed to the
right of the figure.

Problem Figure

N

Answer Figures

o

IS

. !

Ans \(1.}5‘
X< 2B
X 3D
Xa4C

.67 e } AP T TS
067 7 L L B R e w Rn g ¥ Question ID : 9864493915

Status : Not Answered
@ Chosen Option : --

A B C D
Select the option that correctly fits in the blank space in the given figure.

Ans \{‘1.(:

Q.68
Question ID : 9864494040
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fer 1o wefm gea & ATUR W gaiyT 9T #7199

Status : Not Answered
Chosen Option : --

MAKING : KGMANI :: CAPETO :

Select the missing term based on the given related pair.

MAKING : KGMANI :: CAPETO :
Ans X 1. POACTE

v 2. POCATE

& 3 POTECA

& 4 POCAET

Q.69 IATIFT FsHTECT FHUNYA F & FEFEH ‘Faiesr # S @ vfde
AT WA & AHiEET G 32

Who is the famous Indian actress who stars in the ‘Quantico’ TV series on American
Broadcasting Corporation?

Question ID : 9864492301
Status : Not Answered
Chosen Option : --

Ans v e =io=T

| Priyanka Chopra

) Hiferm &g

Alia Bhatt

< s 3
Deepika Padukone

¢ . TS 3T
Malaika Arora

x

Q.70 &1 ==Y AT T FAAW A F AT 46 TT F| HE WA Tg, T3 B A,
DI F 3 @ A o) @B R o B TS g w R

The sum of the present ages of two cousins is 46 years. Eight years ago, the elder one was
twice as old as the younger one. What is the present age of the elder cousin?

Question ID : 9864492872
Status : Not Answered
Chosen Option : --

Ans
x4 30 EL)
30 years

, 26 3§
26 years

, 28 ¥
28 years

, 22 a9
22 years

<

v

<

Q71 CRey GEaT & 28% T AT 35 Bl I 4 g7

28% of a number is 35. What is the number?
Ans X' 1.108

Question ID : 9864492706
Status : Not Answered
Chosen Option : --

< 2.80
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Q.72 £or o3 F ey 9 ==f F @ o, g 9o afule rw mw F T

In which city is St. Peter’s Basilica, one of the most famous churches in Christianity,
located?

Ane o #EE (Madrid)
Madrid

, Toresitet (Lisbon)
Lisbon

5 YTHT (Pisa)

| Pisa

afeera (Vatican)

Vatican

x

x

W

Question ID : 9864492132
Status : Not Answered
Chosen Option : --

Q.73 faafafea & & 5@ &9 # Fa=fas avafer ¥ AT SN TaR @ #e7
TR BT e 2

The Arjuna Awards given by the Government of India is for public achievement in which
of the following fields?

Ans F@F"'T
<

Literature
el
4 Sports
| TR ST

W 2

Poverty Eradication
ki Rlin sy

Economics

< 4

Question ID : 9864492314
Status : Not Answered
Chosen Option : --

Q.74 fr 717 o H eATEE T¢ 3R FA¢ F gHA F oW & F o
e et & o Fis v 8
X, Y 3R Z & Hws megd | g2
T
1.Y & JaT (X+Z) & AT §

2 X AT Y wF @iy Z & 740 30« warg § v Z T500 FEEr

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the average daily wage of X, Y and Z?

Statements:

1. Y’s salary is half of (X+Z)
2. X and Y together earn T 40 more than Z and Z earns T 500

x1.mm1mm2qﬁ1¥r%

Neither 1 nor 2 is sufficient
< 2

Ans

Question ID : 9864493775
Status : Not Answered
Chosen Option : --
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FaT FUT 1 TAT g FaTF FTd FAF 2 HOAT &
1 alone is sufficient while 2 alone is insufficient

5 o A 1 3T FuT 2 T TIT &

Both 1 and 2 are sufficient
W
FTe FIUF 2 TAT § FAdF FId YT 1 HIT &

2 alone is sufficient while 1 alone is insufficient

Q.75 e | FH FIS T ST A 3T B v WeT IF 10 9T F 5 T B
3ol 4 HE O T WY & ar st T B & 1| #ar 99 o fEar g
A & FIF 3T a% S TG & s A Fo 13 U AT 0| A ZER 3T
T &F F e F Faer mEy e
Working together, pipes A and B can {fill an empty tank in 10 hours. They worked together

for 4 hours and then B stopped and A continued filling the tank till it was full. It took a
total of 13 hours to fill the tank. How long would it take A to fill the empty tank alone?

Ans v 15 31
15 hours
13 O
13 hours
16 e
16 hours
12 O

12 hours

~ 2.

< s

~ 4

Question ID : 9864492972
Status : Not Answered
Chosen Option : --
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